
Exercisesheet 6
① If UH)=teit for 0 : Em

, calculate :

a) SyEdz

b) G(z)ldzl
c) (jzdz

Solution :

a) E is TTtl=te
it

on UH) and

↓It) = ait+tieit=(+it) eit so

JEdz=)"Untitle't . teitat=ft+ it * It =

=
b) (z) is IVIt)l=(t) on UC) and 18(t)) = Prit)=

-

= Mit" so

1 +7

((zIldz)=(HIVd=t=[ind=Gui
=(((1xy- 1)

C (pzdz can be done in the same spirit.

However
,
since I is a primitive function of z

we get Jozdz=Ein -iI .





③ Let a andb be real numbers satisfying
all

,
and let I(c) be defined for

any
real

number ci byendz
Show that lim /I(c))=0 and

him (I(c))= 0.
C- -p

Station: We have (Spfzldz)((f() Ildz).
Using this and/e-kit)->e th- ch
as - [a , b) .

That is le-kit ebt-c
in -[aib] .

Therefore II(d)zebcg dz=
= eb- (b-a) = (bab

2

We get-x



4 Evaluate the integrals (where UH = eitotz2 :

a) So /z-2)-2dz

3) Jo zegde
1) If /z+Edt where n is a positive integer.

Station : a) Notice thatsetz" -E2 and

therefore F(z) = - zEg is a primitive function

of Eg in KKE]. Here

Ezedz = 0.
b) Wetrytofinda

primitive function it

j

:
We use partial fractions decomposition






